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- 2015

4 H A& k=R X H=U(HEH)
A 18 12,280
1 o=l 200 1,000
2 JIE 200 200
3 o=l 200 1,000
4 o=l OO 500
5 =l lal 200 1,500
6 =l lal 200 1,000
7 JIE 200 200
8 JIE =00 200
9 JIE 200 200
10 JIE 200 200
11 o=l FO0O 1,000
12 o=l HOO 1,000
13 JIE F0O0 200
14 JIE HOO 200
15 o=l 800 3,000
16 JIE HOO 200
17 JIEF 800 200
18 JIE 200 480

- 2016\

o tH k= X[ R} X2 (H )
A 78 7,280
1 o=l HOO 490
2 stit= 200 600
3 o=l HOO 1,110
4 =l lal 0100 1,430
5 Stit= HOO 1,110
6 =l lal HOO 1,110
7 =llal 0100 1,430




- 2017

o tH k= X[ &AL
| 129
1 (=4a] OO
2 ElPNI=) z00
3 o= 4l 0100
4 & clat gl 200
5 st 3 200
6 =l lal 0100
7 =l lal 800
8 o= 4] 800
9 A 8l 0100
10 JIE 800
11 JIE 0100
12 ol Z Hl 200




